
LT   Montavimo instrukcija
LV   Montāžas instrukcija
EN   Installation instruction
EE   Paigaldusjuhendid
DE   Installationsanleitung 

www.meistrokodas.lt
www.baumera.lt







I-16mm

NR. 11

NR. 12

NR. 13

NR. 14

NR. 15

NR. 16

NR. 17

NR. 19

NR. 18













10



I-16mm

NR. 11

NR. 12

NR. 13

NR. 14

NR. 15

NR. 16

NR. 17

NR. 18

NR. 19













EN



extension

I-16mm

No. 1

No. 2

No. 3

No. 4

No. 5

No. 6

No. 7

No. 8

No. 9

No. 10

No. 11

No. 12

No. 13

No. 14

No. 15

No. 16

No. 17

No. 18

No. 19



Top part











EE

24



25

Deta i l ide n imekir i

Nimetus Pikkus,

2m pikendus

Lühike võlv (ülaosa)

Külgmine võlv (vasak, parem, ülemine)

Külgmine alumine võlvi tugipost (vasak, 
parem)

Kinnitused maa sisse kinnitamiseks

Tugevdus ees taga all külgedel

Võlvide tugevdus - põikipulgad

Tugevdusprofiil

Ukseana tugipost

Eesmine - tagumise osa külgimised tugevdused

Ukseakna tugipost

Tugevdus külgmiste võlvide vahel, all

Kruvid M5-12 sisselastava peaga

Kruvid M5-40

Kruvid M5-16 polükarbonaadi kinnitamiseks 
plaatide ja nurkade külge

Kruvid M5

Läbipaistvad tihendid

Käepide

Polükarbonaadi ja tugipostide kinnitamise 
nurgad

Tavagara uste ja otste plaatide tihendamise 
teip

UKS

UKS

UKS

I-16 mm

Ukse osa hingedega

Ukse eosa käepidemega

Ukse alumine/ülemine osa (horisontaalne osa)

UKS-AKEN

NR. 11

NR. 12

NR. 13

NR. 14

NR. 15

NR. 16

NR. 17

NR. 18

NR. 19



Polükarbonaadi mõõtmed

Küljeosad

Ülemine ikse 
osa

Alumine ukse 
osa

7 Aken

8 Akna alaosa

Ülemine 
ükse akna 
polükarbonaat

Ülemine osa

LENTEDE 
LÕIKUMINE SÕLTUB 

KOMPLEKTIST!!! 
Kui olete saanud ainutl 

suured 2,10x6,00m lehed 
(6m2-2 tk; 12m2-3tk 

jne), kõik need detailid 
on lõigutavad 

2,10x6,00m lehest 
vastavalt esitatud 

skeemile.

2m pikendus Märkused

26



27

-1;-2;-3;-4; Küljeosad
-5- Uks (ülemine osa)
-6- Uks (alumine osa)
-7- Aken
-8- Akna alumine osa
-9- Ülemine ukseakna 
polükarbonaat



28



29



30



DE

31



32

I-16mm

Teileliste

Bezeichnung Länge,

Verlängerung 2m

Kurzer Bogen (oben)

Seitenbogen (links, rechts, oben)

Seitliche untere Bogenstrebe (links, rechts)

Befestigung am Boden

Vordere und hintere untere seitliche Verstärkungen

Bogenverstärkungslatte

Verstärkungsprofil

Tür-und Fensterkombinationsstrebe

Seitenverstärkungen der vorderen und hinteren 
Teile

Tür-und Fensterkombinationsquerstange

Untere Verstärkung zwischen den Seitenbögen

Schrauben M5-12 mit versenktem Komf

Schrauben M5-40

Schrauben M5-16 zur Befestigung von 
Polycarbonat an Plättchen und Ecken

Muttern M5

Transparente Unterlegscheibe

Griffchen

Montageecken für Polycarbonat und Streben

Klebeband für Türen und Enden

Tür-und Fensterkombination

Türteil mit ScharnierenTür

Tür

Tür

Türteil mit Griff

Untere / obere Türteile (horizontaler Teil)

NR. 11

NR. 12

NR. 13

NR. 14

NR. 15

NR. 16

NR. 17

NR. 18

NR. 19



33

Abmessungen von Polycarbonat

Höhe / Breite Verlängerung 
von 2m

Bemerkungen

Seitenteile

Oberteil der 
Tür

Unerteil der 
Tür

7 Fenster

8 Unterteil 
des Fensters

Polycarbonat des 
Oberteils der Tür-
und 
Fensterkombination

Oberteil

SCHNEIDEN DER PLATTEN 
HÄNGT VON DER 

KOMPLETTIERUNG AB!!! 
Wenn Sie nur große Platten mit 

Abmessungen 2,10 x 6,00m 
erhalten haben (für 6m� - 2 
Stüke; für 12m� - 3 Stüke), 

sollten alle diese Details aus 
einem einzigen Blatt mit 

Abmessungen 2,10 x 6,00m 
gemäß dem bereitgestellten 
Schema geschnitten werden.



34



35



36



37



38



39



40



41



42



43



44



45



46



47



48



49



50



51



52



53



54



55



56



57



58



59



60

MANUFACTURER’S WARRANTY
 

 

Warranty provides the Manufacturer of a greenhouse BALTIC LT  (product) JSC „MEISTRO KODAS“ hereinafter 
referred to manufacturer.  
In order to avoid misunderstandings, we offer to read carefully the product warranty terms and conditions and terms 
of a free service. 

 
 BASIC CONCEPTS

 
 

Warranty –

 

is an obligation of the manufacturer to the first line Distributor or Buyer (the final user) to compensate the 
amount paid for the goods or replace the goods if they are of poor quality. 

 

The warranty period -

 

is the period during which the manufacturer undertakes to replace the product or refund the 
amount paid for the product.

 

The first line distributor –

 

the seller having the direct sales contract with JSC “MEISTRO KODAS“. 

 

The Buyer (the final user) -

 

a person who has purchased a greenhouse BALTIC LT

 

of the Manufacturer JSC 
“MEISTRO KODAS“ directly from the Manufacturer or from the first line distributor, and has a documentary 

evidence of the purchase.

 

WARRANTY CONDITIONS

 
 

This warranty is the sole and replaces all other warranties and liabilities, with the exception of state regulations and 
rules. The warranty starts to be valid from the date of product purchase directly from the Manufacturer or the first line 

distributor. The day of purchase is the date that is indicated

 

in the invoice. The guarantee applies only to quality defects 
of a greenhouse BALTIC LT

 

caused by the fault of the manufacturer during the manufacturing process. One of the 
components of polycarbonate of a greenhouse BALTIC LT

 

is given separate the seller’s warranty which depends on 

the manufacturer of the coating used by the seller.

 
 

WARRANTY DOES NOT APPLY IN THE FOLLOWING CASES:

 
 

-

 

damages caused by natural disaster, natural, ecological and other anomalies and force majeure (force majeure) cases;

 

-

 

damage caused by natural factors such as snow, wind or hail voids the warranty. In case of the possibility of strong 
wind, heavy snow or hail, it is recommended to additionally take care of the greenhouse protection from unforeseen 

damage to the structure / pavement (close / fix doors, skylights, support the roof, clean the accumulated snow, etc.).

 

-

 

when the cause of damage –

 

is an inadequate transportation (except cases when the Manufacturer transports the 

product himself to the first line distributors or the buyer), storage or use of the product for other purposes;

 

-

 

when a greenhouse BALTIC

 

LT

 

is installed not in accordance with the detailed process of the installation of 
installation instructions, causing the resulting damages of the product;

 

-

 

product is mechanically damaged, was settled of or affected in some other way after it was transferred to the Buyer;

  

-

 

due to damages, resulting from unqualified maintenance or repair services; 

 

-

 

naturally worn out parts of the goods. 

 
 

FREE SERVICE CONDITIONS

 

 

By submitting a product for the warranty repair, be sure to provide the proof of the purchase of goods. During the 

warranty period, warranty service is free. 

 

IMPORTANT: 

 

•

 

The Buyer (the final user) pays for the transportation costs of the Manufacturer (If the manufacturer 
recognizes the damage of the product as unreasonable); 

 

•

 

Warranty of the repaired goods is not extended –

 

it is valid for the remaining time.

 

EN



61

EE



62

DE







StarkeDACH







UAB „Meistro kodas“

Įmonės kodas 302498339

PVM kodas LT100005319313

Adresai: 

Jonavos g. 250, Kaunas LT- 44132; el. paštas: info@meistrokodas.lt;

tel. nr. 8 683 88282; 8 646 06533

Laisvės pr. 82, Vilnius LT-06125; el. paštas: vilnius@meistrokodas.lt; 

tel. nr. 867422345; 860223452.

Kumės g. 4, 8, Stanaičiai (sandėlys/atidavimas, gamyba), Kauno raj.,

LT– 53285. Tel. nr. 8 607 76661; 8 625 34049.


